
dprh

.onf θ

(
b

r
(n+ 2r)

)
gwi qiqa oein ,r ≤ b 'qne mihia b mr mixtqn n ozpida

(zeveawd xtqn d =

⌈
b

r

⌉
.dveawa zextqd xtqn - r)

dgked

lk xnelk .zg` lk mihia r ly zextq d =

⌈
b

r

⌉
mr 'qnk 'qn lk lr milkzqn

minrt d mirvane ,onf θ (n+ 2r) gwi dxtq lk oein okl .[0..2r − 1] geeha dxtq

.θ

(
b

r
(n+ 2r)

)
okle

r ≈ log n

θ

(
b

log n
n

)
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Bucket Sort(A,B)

1. n←length(A)

2. for i←1 to n

2.1 B[bnA [i]c]←A[i]

3. for i← 0 to n-1

3.1 sort list B[i] with insertion sort

4. concatenate the lists B[0],B[1],...B[n-1] in order
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